WZ15-150H

A
WAGNER

AARED

IC40028A

POS RS i B TEAM ik
1 2110041 |pal— 1 52,500

2 2108240 |x=r v 1 GX240K1-LXF

3 1

4 2110043 |[RoF_—= 1 26,800

5 2110044 |Bh#E= 2 2 4,000/[KA40-33h35 1.=35
6 2110045 |BhfE= A 1 3,800{KA40-33h

7 2110153 |Hidi 2 12,300[VS180

8 2110154 |[U~vk 2 1,700

fIAk - dn - MRS T ERKER T 2ENHYET,

LC40028A

2023.07



_ A
WZ15-150H WAGNER

ALEX

pom§
@
- J
J
[C40029A
POS i h4h B TEAT kS
1 2110050 |EER T 1 260,000[FWS3530G
2 2510131 |7ro—&— L7 1 45,400[VB-9
3 2104622 |AAAAT /LR 1 2,400|R1/4
4 2110137 |HE)=7 —HEHp 1 8,400
5 2104033 |FAAATILR 1 4,000|R3/8
6 2118067 |H7F7—/ ok 1 4,400|SUS3/8F
7 2103520 |TNRF 2—T T 4T 4T 1 R1/8M X ¢ 10 BEFRMAGA AT
8 2110140 |= 7 H 74— 1 6,200|G1/2M X R3/8M X R1/8F
9 2110132 (W /KT X 74— 1 5,000|G3/4 X R1/2M
10 | 2116350 |MAK7 41— 1 750] ¢ 21
11 | 2103314 [AAAZTILR « H 1 2,100|R1/2
12 | 2103821 |HEN=7 —hExFa—7 1 1,300| ¢ 10 X ¢ 6.5 X 400
13-1| 2104491 &I MFT7 X 75— 1 2,100|G3/8F X R3/8M
13-2| 2104492 &I MMtT7 X 75— 1 3,600(G1/2F X R1/2M
14-1| 2104213 |T/VRKR—AT 4T (2 1 1,700|G3/8M X R3/8M
14-2| 2104214 |ZARK—ART 4T (27 1 3,600(G1/2M X R1/2M
15 | 2115553 |EJjat « STIA R 1 14,700| & 50 X 35MPa
16 | 2104630 |HEAAART LR 1 6,200{R3/8M X R1/4F

LC40029A

fbE - 0 - i1 T R SR T, 202301



A
WZ15-150H WAGNER

SEARTT [FWS3530G](PN 2110050)

=)} . b
—Ar— g 5
Herrriix
~mo®nr~rO T o —% o A
[C40030C

3
AR - 03 - I T ERKEETH2HERHVET, 2023.07



WZ15-150H

A
WAGNER

POS oS W FoE TEAM S
1 2110051 |v=F&—1LK 1 160,000
2 2110052 [ 7SRV E 8 620/M8 X 70
3 2110053 |52 1 1,600|G1/4
4 OV 17.32 X 2.62150H @6 HA L LA AR AT
5 IV T L —] @6 B A A w]
6 N ®6 B ARG R AT
7 IINT ATV @6 i s A~ A]
8 INIVTHAR ®6 R Nl
9 2110059 [T —ExEUN1 B () 35,100|Pos 4,5,6,7,8
10 2110316 (O Vo2 6 270(20.29 X 2.62
11 2110060 [T 55 6 10,100
12 2110061 [~yRUL 2 06 1,200
13 2110062 |V /3wy 06 8,900
14 2110063  |[/SwHPR—h O3 1,800
15 2110064 |[v—AH—bE 2BV 1 B @) 51,100|Pos 12,13,14
16 2110065 |FHRJV~ 3 11,300
17 2110066  |/Sy VT 1) — 3 10,300
18 2110067 [0V 2 3 520(31.47 X 1.78
19 2110068 |[A A/ —1 3 2,100[20 X 30 X 7
21 2110069 [Tk 3 3,800
29 2110070 [Twip— 3 1,200[8.2 X 17 X 1.5
23 2110071 |EAR 3 22,700] ¢ 18
24 2110072 |Uyiv— 3 1,600
25 2110073 (O Vv 3 270|7.66 X 1.78
26 2110074 (N o 7TV 3 520
27 2110075 |EARHAR 3 17,900
28 2110076 |y oy RE 3 4,300
29 2110077 |zrmvk 3 23,900
30 2110078 |(75v 04 —= 3 72,900
31 2110079  |[AANAT 4o 1 2,300
31a 2110101 [0V 2 1 800(2.62 X 13.95
32 2110080 [AFw7 Vs 1 2,000
33 2110081  |[A ALY ALTTZ 1 2,600
34 2110082 |0 VU2 1 520[23.52 X 1.78
35 2110083 |0 VU2 1 1,700{107.62 X 2.62
36 2110084 |75o 2 —AT N — 1 12,300
37 9900358 [ USRIV 6 170[M5 X 20
38 2110085 |[AANRLTF5S 1 2,600|G3/8M
39 2110086 |0 VU2 1 500[14 X 1.78
44 2110087  [ASH 7RV 4 400[M8 X 22
45 2110088 |75 1 51,100
46 2110089 |[A~=—H— 4 2,500[18 X 9 X 4.8
47 2109303  [FEAFF SRR 4 150|M8 X 45
48 2110090 [> A 750[ ¢ 6.8 X 0.05
2110091 [ A 860| ¢ 6.8 X 0.10
2110092 |4 990| ¢ 6.8 X 0.19
2110093 |4 1,200| ¢ 6.8 X 0.25
49 2110094 |[A AL —L 1 4,500[40 X 52 X 8
50 2110095 |0V 1 1,70063.22 X 1.78
51 2110096 |[~7Vo27 1 13,400[32008
52 2110097 |[~=7Vo 2 1 9,000[30305
53 2110098 |0 VU2 1 860
54 2110099 |75 1 14,000
55 9900312 [ USRIV 4 200|M6 X 20
56 2110100 |75 27 %7h 1 85,000
P0s.9 7\ —E 2By I, Pos.4,5,6,7,8 234 6 3oy hENTHWET (1 B4) L.C40030B

Pos.15 > — /)L —E At M, Pos.12(6 /7)) Pos.13(6 #7) Pos.14(3 7)) S oty hrEHTHET (1 B4)

AR - dn - RIS T ERKE R T HRHYET,

4

2023.07




A

7>Aa—4—/\)L7 [VBI9](PN 2510131)

[C40009A

5
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.07



_ A
WZ15-150H WAGNER

POS T i B TEAM ik
1 2040045 |/ SA /XA RTH— 1 3,900

2 2152046 |0 U7 20 270[18.77 X 1.78
3 2040047 [Tk 1 710/M6

4 2040048 |[Sy v H— 10 9,600

5 2152049 (O V> 10 400[15.6 X 1.78
6 2040050 [ —h 10 3,400

7 2040051 |[A~R—H— 1 2,100

8 2152052 (O Vv 7 10 27014 X 1

9 2040053 |E°ARy 1 14,700

10 | 2152054 |77V 20 910[11.4 X 15.9
11 | 2152055 |O Vv 10 150[10.77 X 2.62
12 | 2040056 |75 1 1,600

13 | 2040057 |>—/LTUvix 1 400

14 | 2040058 |t°» 1 650

15 | 2040059 |HRF 1 1 22,400

16 | 2040060 |A7VUL 2 1 3,200

17 | 2040061 |Vyiy— 1 2,700

19 | 2040063 |ASfT vk 1 400|M8 7Y 1k fF
20 | 2152064 (O VU2 10 520(6 X 3

21 | 2040065 |Fx=vZ/3LT 1 3,400

22 | 2040066 |[AFV 1 400

23 | 2040067 |7TUhLvhaRIH 1 4,300

24 | 2152068 |\ rT oIV 10 780(7.6 X 2.62
26 | 2040070 |[F¥v 1 2,600

27 | 2040071 [AZV=2— 1 270[M4 X 10

28 | 2040072 [FEHEES b 1 5,000

29 | 2040073 [V 1 4,200

30 | 2040074 |NFOLFIED AL 1 400|M5 X 6

31 2040075 [/NAT b 1 270

2152080 |U~7 —F b O 16,900(Pos.2,4,5,6,8,10,11,20,24

LC40009A

fbE - 0 - i1 T R SR T, 202301



A

% - KR—Z (PN 2116135)

|
|
ID40001A
POS i 4 $og TEAT ik
1 1
1-1 2116134 W « KV AL HR—A 18,400|G1/2 + G3/8 X 3m
1-2 2116135 (W « KV AL THR—A 20,800|G3/4 + G1/2 X 3m
1-3 2116136 |H4/3v% 3/4 1,700(5 Kz AV
1-4 2116137 |[H4&/3vF% 2 1/2 1,500(5 Kz AV
1-5 2116138 |[H4&/3v% 1 3/8 1,300(5 Kz AV
2 2116320 [ARL—F— -« [ 1 4,200|(G3/4F
.D40001B
7

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.07



